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[1] f()=__ Jlimf(x)=_ ,f(x) x=1
[2] f(2):,lxi;n2f(x):,f(x) X = 2
[3] f(3):,lxir;13f(x):,f(x) x =3
[4] f(4):,lxi;n4f(x):,f(x) x = 4
[5] f(5):,IXiEn5f(x)=,f(x) x=5
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f(x) a o (1)f(@)
()1im f (%)
(3) () lim f (X
= limf(x) = f (a)
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(1) t(x) (ab) = 1(x) (ab)

(2) T(x) = T(x) (-0,0)
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X* —4

Ex1 f(X)=

X —2 y 1 y=x+2,x#2
(1)f(2)= g
(1im f(x) 5 e
AF() x=2 L
@  f( S
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X*—4
. XZE2
Ex2 f(X)=< x-2 yb y=f(=x+2
4 o X=2
(D)= 42“
(2)lim f (x) =
@) f(x) x=2 2 2 X
(4) f(X)
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X+1, X>2
Ex3 f(X) = X=2
2X-1 X<?2
Sl f(2)=3 t y=x+1x>2
lim (x) = lim(x+1) =3 il
X 2" X-2"

lim f(x) = lim(2x-1) =3
X2 X2
= limf(x)=3=1(2)

1
N

H R

N

y=2x-1x<2
= f(X) x=2
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Ex4 f(x):u Xx=0

ol

—

X
f(0)
lim f(x) = lim >~ =1
X0 x-0" X
lim f(x) = lim—~=-1
X-0" x-0 X
i 09
f(x) x=0

T Al Mo M1l




(1) f g a cfk ftg fg
f/g(g(a)z0) a
(2) (IXi m P(x) = P(a),all R)
(3) (IMR(x) = R(a), all Dg)
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X° =4

EX5 f(0= 5~

Sol D, ={x|x*+x—-6%0} ={x|x# 2,-3
—~ f(x) D,
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X -1 X£1
Ex6 f(x)=1 x-1 ol f(x) x=1
k Xx=1 Iin;f(x):f(l)
f(X) Xx=1 k = U U
2 k
= k=2
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